DESIGN
"ASHLEY"

REPLACEMENT PART DESCRIPTION FORM

MODEL #: D225-230

J FACTORY USE ONLY!!
PART DESCRIPTION USED ON: | MRP# MATERIAL | QTY.
PACK| P/M
1 Leg Assembly D225-230 |R63629 Metal+Plastic| 2 F M
Bottom Stretcher(L=423mm)| D225-230 |R63630 Metal 2 F M
3 |Top Stretcher(L=370mm)| D225-230 [R63626 Metal 2 F M
1/4 inx30mm Allen Bolt (4)
1/4 inx20mm Allen Bolt (4)
1/4 inx15mm Allen Bolt (4)
4 Hardware Pack D225-230 |R65641 1/4 in Flat Washer (12) 1 G P
1/4 in Lock Washer (12)
End Cup Cover(4)
4mm Allen Wrench (1)

SIGNATURE DESIGN BY ASHLEY®

All Rights Reserved.

June 2020

Page 1 Of 1



